

$$f(n) = \sqrt{(n+2)n^2 + an + b} \Rightarrow [-\infty, \infty]$$

در هر دو طرف
 مربع می‌گیریم

$$a + 2 = 0$$

$$a = -2$$

$$-2n + b = 0$$

$$-2(3) + b = 0$$

$$-6 \rightarrow b = 6$$

$$f(n) = \sqrt{n^2 + 4n + 2 - m^2} \quad \Delta = 0$$

$$f = f(4 - m^2) = 0$$

$$f = n + f m^2 \Rightarrow 4m^2 - 4 = 0 \Rightarrow (m^2 - 1) = 0 \quad + 1 - (-1) = 2$$

$$\rightarrow m = \pm 1$$

$$f(n) = \sqrt{e - n^2} \Rightarrow \frac{-2 \quad 2}{-1 \quad 1}$$

$$[a] + [-a] + 1 \neq 0$$

$$[-2 \quad 2] \Rightarrow \{-2, -1, 0, +1, 2\}$$

فقط صحیح

تا

$$100 \geq \dots \rightarrow \geq$$

$$V_1: \frac{n+r}{4n^2+3n^2-1n+1 \neq 0} \quad \frac{4n^2+3n^2-1n+1}{-4n^2+3n^2} \quad \frac{n-1}{4n^2+3n^2} \quad \frac{1}{4} \quad \frac{-3}{4} \quad \mathbb{R} = \{-1, \frac{1}{4}, -\frac{3}{4}\}$$

$$V_2: \frac{n+r}{4n^2+3n^2+10n+1} \quad \frac{4n^2+3n^2+10n+1}{-4n^2-3n^2} \quad \frac{n+1}{4n^2+3n^2} \quad \frac{1}{4} \rightarrow -1 \quad \mathbb{R} = \{-1, -\frac{1}{4}, -\frac{3}{4}\}$$

$$V_3: \frac{n+r}{n^2-2n^2+2n-1} \quad \frac{n^2-2n^2+2n-1}{-n^2+n^2} \quad \frac{n-1}{n^2-n+1} \quad \frac{1}{1-\epsilon(1)} \quad \mathbb{R} = \{1\}$$

$$V_4: \sqrt{\frac{n+r}{n^2-2n^2+2n-1}} \geq 0 \quad \frac{-r}{+3-3} \quad (-\infty -r] \cup (1 +\infty)$$

$$V_5: \frac{r}{n^2-\omega(n-1)-2n+\omega \neq 0} \quad \frac{1}{n^2-2n+\omega} \quad \frac{n^2-\omega n+\omega-2n+\omega}{n^2-2n+1} \quad \mathbb{R} = \{-2, 0, 2, \omega\}$$

$$V_6: \frac{n+r}{|2n+1|-|n+r| \neq 0} \quad \frac{-2n-1+n+r}{-n+r} \quad \frac{-2n-1-n-r}{-2n-r} \quad \frac{2n+1-n-r}{n-r} \quad \mathbb{R} = \{-\frac{r}{2}, r\}$$

$$V_7: \sqrt{|2n+1|-|n+r|} \geq 0 \quad |2n+1| \geq |n+r| \Rightarrow \begin{cases} 2n+1+n \geq n+r+2n \\ 2n+1-n \geq n+r-2n \end{cases} \Rightarrow \begin{cases} 4n+1 \geq n+r \\ 1-n \geq n+r \end{cases}$$

$$V_8: \log_r(1-\log_r n) > 0 \quad 1-\log_r n > 0 \Rightarrow \log_r n < 1 \Rightarrow n < r \Rightarrow (0, r)$$

$$V_9: \log_r(1-\log_{\frac{1}{r}} n) > 0 \Rightarrow 1 > \log_{\frac{1}{r}} n \Rightarrow \log_{\frac{1}{r}} n > 1 \Rightarrow n > \frac{1}{r} \Rightarrow (\frac{1}{r}, \infty)$$

$$V_{10}: \sqrt{\log_{\frac{1}{2}} \log_{\omega}(2n-1)} > 0 \Rightarrow 2n-1 > 1 \Rightarrow n > \frac{1}{2} \quad \log_{\omega} 2n-1 > 0 \Rightarrow 2n-1 > 1 \Rightarrow n > 1$$

$$\log_{\frac{1}{2}} \log_{\omega} 2n-1 < 1 \Rightarrow \log_{\omega} 2n-1 < 2 \Rightarrow 2n-1 < \omega \Rightarrow 2n < \omega+1 \Rightarrow n < \frac{\omega+1}{2}$$

$$[1, \frac{\omega+1}{2}] = D_f$$

$$\sqrt{\log(\cos n+1)} > 0 \Rightarrow \cos n > -1 \Rightarrow \cos n > -\frac{1}{r} \quad \mathbb{R} = [\arccos(-\frac{1}{r}), \arccos(\frac{1}{r})]$$

$$V_{11}: \sqrt{\log_{\frac{1}{2}} \frac{n-1}{n+1}} \geq 0 \Rightarrow \log_{\frac{1}{2}} \frac{n-1}{n+1} \geq 0 \Rightarrow \frac{n-1}{n+1} \geq 1 \Rightarrow \frac{-2}{n+1} \geq 0 \Rightarrow \frac{-1}{+3-3} \quad (-\infty -1)$$